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SW-12
June - Examination 2019
BSW Pt. Il Examination
"Indian Social Problems:
Concept, Causes and Consequences"”
Paper - SW-12
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 ud
Gus & MGATTAR AT & IR QIS

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer Ty IR Ue)
fAder: Tt weAl & IR SISTI 31T 310 TR DI WATTHAR Th 916G,
T Iy AT ferpad 30 orsgl H uRAfg Hifviel e ueT
2 3fpl Bl gl
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1) (i) What do you mean by social problem?
AT THRAT | SMUDBT AT NI g 2

(i) Mention any two causes of illiteracy in India.

YR H FRERAT & PIg 2 HRUT IdT |

(iii) Write any two causes of child marriage.

ITeT-fdarg & Pig 2 HRoT AR |

(iv) Give any two example of non-material culture.

3Hfcreh TRPHT & DIg QISR S|

(v) What do you mean by labour organization?

fTep ST T 3T T STV g ?

(vi) Mention any two causes of female feticide in India.
IRA N =T YOT g & DY 2 HRU ATy |

(vii) Write any two types of Addiction.
AT P Pls 2 PR fIRau|

Section - B 4 x7=28
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

Qus - §
(oTg ITRIT UeA)
fAder: gl IR Ul & IR SIVI MY 3 ITR Bl fepay
200 orsgt ® gRAfAT HT| g U9T 7 3fpl &l gl

2) Describe the problems of Industrial labour.

Jienfies Sftepl H TR BT guie HIRR|
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Explain the concept of white collar criminals.

Jienfie Hftel H FHRITR BT guia HIRR|

Elaborate the characteristics of Inequality.

Fheuer 3TRTelt ht LN Bt =T BRI

Differentiate between material and non-material culture.
Hifcres 3iiR ariifie dwpiar o oiaR Tase i)
Write a short note on "Agricultural labour".

‘PR s’ R T o ot ke

Explain the concept of bonded labour.

SYAT HOTGR T TR Bl Ieeikd Do |

Write a short note on Juvenile delinquent.

q1eT TRl W T oy fevguft forRed |

Classified the criminals according to Lombroso.

AT & STAR SAORTRAT BT FMThR0T DHIfTY|

Section-C 2X14=28

(Long Answer Questions)

14 marks.
us - 9
(el ST ¥9d)

great ¥ gRAT BT TDep T9T 14 37ept BT gl

10) Explain the various causes of youth unrest in India.

TR H BE-3RIAIY & I~ PR &1 fod= BT
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Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
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11) Describe the different types of Violence.

&1 & fafdy Rt & e Hifvul

12) Write an essay on illiteracy in India.

TR H fAReRdT R Tep fay foiRad|

13) Explain the different type of social problems of India.

TRT P = TepR &l AHTRTS FERIT3T &7 fdee HIrR |
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